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1. Look carefully at the sequence of symbols
to find the pattern. Select the correct
pattern.

iSVuZ dks izkIr djus ds fy, izrhdksa ds vuqØe dks è;ku ls
ns[ksaA lgh iSVuZ dk p;u djsaA

?

(1) (2) (3) (4)

(A) 1 (B) 2
(C) 3 (D) 4

2. Here are some words translated from an
artificial language.
jalkamofti means happy birthday
moftihoze means birthday party
mentogunn means goodness
Which word could mean "happiness"?

;gk¡ dqN 'kCnksa dk df̀=ke Hkk"kk ls vuqokn fd;k x;k gSA
jalkamofti dk vFkZ gS happy birthday

moftihoze dk vFkZ gS birthday party

mentogunn dk vFkZ gS goodness

fdl 'kCn dk vFkZ "happiness" gks ldrk gS\
(A) jalkagunn (B) mentohoze
(C) moftihoze (D) hozemento

Directions (3): A statement is given followed
by two arguments I and II. You have to consider
the statement to be true, even if they seem to
be at variance from commonly known facts. You
have to decide which of the given argument, if

any, follow from the given statement.

funsZ'k (3): ,d dFku fn;k x;k gS] ftuosQ vkxs nks rdZ
I rFkk II gSaA vkidksa fopkj djuk gS fd dFku lR; gS] pkgs og
lkekU;r% Kkr rF;ksa ls fHk=k izrhr gksrs gksaA vkidks fu.kZ;
djuk gS fd fn, x, rdksZa esa ls dkSu&lk fuf'pr :i ls fn,
x, dFkuksa }kjk lgh fudyrk gS] ;fn dksbZ gksA
3. Statement/dFku :

Should there be students union in college/
university?

D;k egkfo|ky;@fo'ofo|ky; esa Nk=kla?k gksuk pkfg,\
Arguments/rdZ :
I. No, This will create a political

atmosphere in the campus.

ugha] ;g ifjlj esa ,d jktuSfrd ekgkSy iSnk djsxkA
II. Yes, it is very necessary because

Students are future political leaders.

gk¡] ;g cgqr vko';d gS D;ksafd Nk=k Hkfo"; ds
jktuSfrd usrk gSaA

(A) Only argument I is strong.

dsoy rdZ I izHkko'kkyh gSA
(B) Both I and II are strong

rdZ I rFkk II nksuksa izHkko'kkyh gSaA
(C) Either I or II is strong

;k rks rdZ I ;k rdZ II izHkko'kkyh gSaA
(D) Neither I nor II is strong

u rks I u rdZ II izHkko'kkyh gSA
4. Arrange the words given below in a

meaningful sequence.

fuEu 'kCnksa dks ,d lkFkZd Øe esa O;ofLFkr djsaA
1. Tree/isM+ 2. Seed/cht
3. Flowers/iQwy 4. Fruit/iQy
5. Plant/ikS/k
(A) 5, 2, 1, 3, 4
(B) 2, 5, 1, 4, 3
(C) 2, 5, 1, 3, 4

(D) 2, 5, 3, 1, 4

5. Which of the following diagrams indicates
the best relation among Gold, Metal and
Zinc?

fuEu esa ls dkSu&lh vkd`fr lksuk] /krq rFkk ftad ds chp
laca/ bafxr djrk gS\

(A) (B)

(C) (D)

Directions (6–8) : Find the odd word/letters/
number pair/number from the given

alternatives.

funsZ'k (6&8)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
6. (A) Trunk/Mkyh (B) Tree/isM+

(C) Fruit/iQy (D) Leaf/iÙkh
7. (A) 15 (B) 35

(C) 99 (D) 77
8. (A) ROAD - 48 (B) SHIP - 91

(C) ARE - 18 (D) DEAR - 84

9. In a family, the father took 1/4 of the cake
and he had 3 times as much as each of the
other members had. The total number of
family members was:

,d ifjokj esa firk us 1/4 Hkkx dsd ys fy;k] tks fd vU;
lnL;ksa ds fgLls ls 3 xquk T;knk FkkA ifjokj ds dqy lnL;ksa
dh la[;k D;k Fkh\
(A) 3 (B) 7
(C) 10 (D) 12

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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10. If A and B are children of D, then who is the
father of A?
To answer this question which of the
statements (1) and (2) is necessary?
;fn A rFkk B, D ds cPps gS] rks A dk firk dkSu gSA
bl iz'u dk mÙkj nsus ds fy, (1) rFkk (2) esa ls dkSu&lk
dFku vko';d gS\
1. C is the brother of A and the son of F.

C, A dk HkkbZ rFkk F dk iq=k gSA
2. F is the mother B.

F, B dh ekrk gSA
(A) Only (1)/dsoy (1)

(B) Only (2)/dsoy (2)

(C) Either (1) or (2)/;k rks (1) ;k (2)

(D) Both (1) and (2)/(1) rFkk (2) nksuksa
11. Which number is on the face opposite to 6?

6 dh fupyh lrg ij dkSu&lh la[;k gS\

6

3
2

6

2
4

5

6
4

1

4
2

(A) 4 (B) 1
(C) 2 (D) 3

12. Radha moves a distance of 7 km towards
South-East, then she moves towards West
and travels a distance of 14 km. From here
she moves towards North-West and travels
a distance of 7 km. Finally she moves
towards east and cover a distance of 3 km.
How far is she now from the starting point?
jk/k nf{k.k&iwoZ dh vksj 7 fdeh- tkrh gSA mlds i'pkr~ og
if'pe dh vksj eqM+rh gS rFkk 14 fdeh- dh nwjh r; djrh
gSA ;gk¡ ls og mÙkj if'pe dh rjiQ eqM+rh gS rFkk 7 fdeh-
dh nwjh r; djrh gSA var esa og iwoZ esa eqM+rh gS rFkk 3 fdeh-
dh nwjh r; djrh gSA vius izkjafHkd fcUnq ls og fdruh nwj
gSA
(A) 3 km/fdeh- (B) 4 km/fdeh-
(C) 10 km/fdeh- (D) 11 km/fdeh-

13. If a mirror is placed on the line MN, then
which of the answer figures will be the right
image of the question figure?
;fn niZ.k dks js[kk MN ij j[kk tk,] rks mÙkj vko`Qfr;ksa esa
lsa dkSu] iz'u vko`Qfr dk lgh izfrfcac gksxk\
Question figure/iz'u vko`Qfr %

M

N

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)

14. From the given answer figures, select the
one in which the question figure is
embedded.

nh xbZ mÙkj vkÑfr;ksa esa ls] ml vkÑfr dks pqfu, ftlesa
iz'u vkÑfr vUrfuZfgr gSA
Question figure/iz'u vko`Qfr %

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)
15. Select a suitable figure from the four

alternatives that would complete the figure
matrix.

pkj fodYiksa esa ls ml mi;qDr vkdf̀r dk p;u djsa tks fd
fn, x, vkO;wg vkd`fr dks iw.kZ djsxhA

?

(A) (B) (C) (D)
16. A piece of paper is folded and cut as shown

below in the question figures. From the
given answer figures, indicate how it will
appear when opened?

uhps iz'u vko`Qfr;ksa esa fn[kk;s vuqlkj dkxt dks eksM+dj
dkVus rFkk [kksyus osQ ckn og fdl mÙkj vkòQfr tSls fn[kkbZ
nsxk\
Question figure/iz'u vko`Qfr %

Answer figure/mÙkj vko`Qfr %

(A) (B) (C) (D)
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17. Find the missing number.

foyqIr la[;k Kkr djsaA

6

9

22

?

750

8

(A) 77 (B) 71

(C) 93 (D) 91

18. Find the number of triangles in the given

figure.

fn, x, vkd`fr esa f=kHkqtksa dh la[;k Kkr djasA

(A) 10 (B) 12

(C) 14 (D) 16

19. From the given alternative words, select the

word which can't be formed using the letters

of the given word.

fuEufyf[kr fodYiksa esa ls og 'kCn pqfu,] tks fn, x, 'kCn
osQ v{kjksa dk iz;ksx djosQ ugha cuk;k tk ldrk gSA
HERBIVOROUS

(A) BOUVIRE (B) BRUISE

(C) HIEVES (D) BUSHIER

20. A word is represented by only one set of

numbers as given in any one of the

alternatives. The sets of numbers given in

the alternatives are represented by two

classes of letters as in two matrices given

below. The columns and rows of Matrix-I are

numbered from 1 to 4 and that of Matrix-II

are numbered from 5 to 8. A letter from

these matrices can be represented first by

its row and next by its column. E.g., ‘X’ can

be represented by 22, etc., 'N' can be

represented by 32 and ‘O’ can be

represented by 76 etc. Similarly, you have

to identify the set for the word ‘ROME’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 1 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 8A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘X’ dks 22,

}kjk n'kkZ;k tk ldrk gS] 'N' dks 32, }kjk n'kkZ;k tk ldrk
gS rFkk ‘O’ dks 76 }kjk n'kkZ;k tk ldrk gSA blh rjg ls]
vkidks 'kCn ‘ROME’ ds fy, la[;k lewg dks igpkuuk gSA
 Matrix-I/vkO;wg-I     Matrix-II/vkO;wg-II

1 2 3 4

1 R E S M

2 O X T U

3 M N R O

4 P R T O

  

5 6 7 8

5 G M N T

6 R S E X

7 C O B D

8 N P M O

(A) 33, 21, 57, 12 (B) 11, 76, 87, 67
(C) 42, 30, 56, 32 (D) 65, 88, 31, 56

Directions (21–23) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

funsZ'k (21&23) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
21. 5643 : 8 : : 3563 : ?

(A) 27 (B) 64
(C) 18 (D) 32

22. BIMO : DOQU : : RATE : ?
(A) TGXI (B) TEXI
(C) TAXL (D) TEXT

23. FIRE : 84 : : RAINBOW : ?
(A) 248 (B) 1627
(C) 649 (D) 356

Directions (24) : In the following question, a
series is given with one terms missing. Choose
the correct alternative from the given ones that
will complete the series:

funsZ'k (24) % fuEufyf[kr iz'u esa] ,d vuqØe fn;k x;k gS
ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh fodYi
pqfu, tks vuqØe dks iwjk djsaA
24. 8, 13, 30, 93, 374, _____

(A) 1673 (B) 1871
(C) 1972 (D) 1879

25. If JAYSURYA = 768 and LARA = 304, then
TENDULKAR = ?

;fn JAYSURYA = 768 rFkk LARA = 304, rks
TENDULKAR = ?
(A) 1176 (B) 1246
(C) 1192 (D) 1233
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
26. The first National Conference of

Investigating Agencies was held in which

of the following cities?

tkap ,tsafl;ksa dk igyk jk"Vªh; lEesyu fuEu esa ls fdl
'kgj esa vk;ksftr fd;k x;k Fkk\
(A) Pune/iq.ks
(B) Bengaluru/csaxyq:
(C) New Delhi/ubZ fnYyh
(D) Chennai/psUubZ

27. Viratnagar, capital of Matsya Mahajanpada

located in which region?

fojkVuxj] eRL; egktuin dh jkt/kuh fdl {ks=k esa fLFkr
gS\
(A) Malwa/ekyok
(B) Peshawar/is'kkoj
(C) Jaipur/t;iqj
(D) Bundelkhand/caqnsy[k.M

28. India's first comprehensive "Crime

Criminal Tracking Network System

(CCTNS)" has been launched by which state

government?

Hkkjr ds igys O;kid ¶Økbe fØfeuy VªSfdax usVodZ flLVe
(lhlhVh,u,l)¸ fdl jkT; ljdkj }kjk 'kq: fd;k gS\
(A) Madhya Pradesh/eè; izns'k
(B) Haryana/gfj;k.kk
(C) Maharashtra/egkjk"Vª
(D) Odisha/vksfM'kk

29. Consider the following statements:

fuEufyf[kr dFkuksa ij fopkj djas%
1. The land border of India is

approximately twice of the coastline of

the country

Hkkjr dh lhek js[kk rVh; js[kk dh yxHkx nksxquk gS
2. Largest state with coastline in India is

Gujarat

Hkkjr esa leqnz rV ls lVk gqvk lcls cM+k jkT; xqtjkr
gS

Which among the above statements is / are

correct?

mijksDr dFkuksa esa ls dkSu&lk@ls dFku lR; gS\
(A) Only 1/dsoy 1
(B) Only 2/dsoy 2
(C) Both 1 & 2/1 vkSj 2 nksuksa
(D) Neither 1 nor 2/u rks 1 vkSj u gh 2

30. Who has been honoured with the 2016

Tamil Ratna Award?

rfey jRu iqjLdkj 2016 ls fdls lEekfur fd;k x;k gS\

(A) P. V. Sindhu/ih-oh- fla/q

(B) Bharathi Raja/Hkkjrh jktk

(C) A.R. Rahman/,- vkj- jgeku

(D) M.S. Subbulakshmi/,e- ,l- lqCcqy{eh
31. On which river, in Jammu & Kashmir the

highest railway bridge in the world is being

constructed?

tEew&d'ehj fdl unh ij] nqfu;k dk lcls Å¡pk jsyos iqy

dk fuekZ.k esa gks jgk gS\

(A) Jhelum River/>sye unh

(B) Chenab River/psukc unh

(C) Shyok River/';ksd unh

(D) Indus River/fla/q unh
32. Name the Super computer made by India.

Hkkjr }kjk fufeZr lqij dEI;wVj gS&
(A) T3A

(B) Yanha 3

(C) PARAM 10000

(D) J8

33. Who was first finance minister of India?

Hkkjr ds igys foÙk ea=kh dkSu Fkk\
(A) Navtej Singh Sarna

uorst flag ljuk
(B) R. K. Shanmukham Chetty

vkj- ds- 'kueq[ke psV~Vh
(C) N.K. Mukherji

,u- ds- eq[kthZ
(D) Anil Wadhwa

vfuy ok/ok
34. Who is responsible for transfers and postings

of officers in the cadre of Chief

Commissioner of Income-tax?

eq[; vk;dj vk;qDr Lrj ds vf/dkfj;ksa ds LFkkukraj.k vkSj

izfof"V ds fy, dkSu mÙkjnk;h gksrk gS\

(A) Governor of states/jkT;ksa ds jkT;iky

(B) CBDT Chairperson/lhchMhVh vè;{k

(C) President/jk"Vªifr

(D) CBI Director/lhchvkbZ funs'kd
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35. Which among the following acts is known
to be the beginning of the parliamentary
System in India?

fuEufyf[kr esa ls fdl vf/fu;e dks Hkkjr esa lalnh; iz.kkyh
dh 'kq:vkr ds fy, tkuk tkrk gS\
(A) Indian Councils Act 1892

Hkkjrh; ifj"kn~ vf/fu;e 1892
(B) Indian Councils Act 1904

Hkkjrh; ifj"kn~ vf/fu;e 1904
(C) Indian Councils Act 1909

Hkkjrh; ifj"kn~ vf/fu;e 1909
(D) Government of India Act 1919

Hkkjr ljdkj vf/fu;e 1919
36. Which substance is used to retard the

setting action of cement?

dkSu&lk jlk;u lhesaV dk teuk /hjs djrk gS\
(A) CaO (B) Al

2
O

3

(C) CaSO
4
 . 2H

2
O (D) CaSO

4
 .

1

2
H

2
O

37. The deepest trench of the world- "The
Mariyana Trench" is located in the:

fo'o dh lcls xgjh [kkbZ ¶efj;kuk [kkbZ¸ dgk¡ fLFkr gS\
(A) Pacific ocean/iz'kkar egklkxj
(B) Indian ocean/fgan egklkxj
(C) Atlantic ocean/vVykafVd egklkxj
(D) Arctic ocean/vkdZfVd egklkxj

38. Reproductive value of an individual is
greatest just before ____?

,d O;fDr ds fy, iztuu laca/h ekU;rk,a ____ ds Bhd
igys lcls vf/d gksrk gS\
(A) Birth/tUe
(B) Death/e`R;q
(C) Marriage/fookg
(D) First reproduction/igys iztuu

39. Who is regarded as "Maker of Modern India"?

¶vk/qfud Hkkjr ds fuekZrk¸ ds :i esa fdls tkuk tkrk gS\
(A) M. G. Ranade/,e-th- jkukMs
(B) Mahatma Gandhi/egkRek xka/h
(C) Keshav Chandra Sen/ds'ko pUnz lsu
(D) Ram Mohan Roy/jkeeksgu jkW;

40. By which of the following modes can
citizenship be acquired?

ukxfjdrk fuEufyf[kr eas ls fdl ekè;e }kjk izkIr dh tk
ldrh gS\
I. By birth/tUe }kjk
II. Hereditary/vkuqoaf'kdrk }kjk
III. By registration/iath;u }kjk
IV. By request/vuqjks/ }kjk
(A) I and II/I vkSj II }kjk
(B) I, II and III/I, II vkSj III }kjk
(C) II and III/II vkSj III }kjk
(D) IV, II and III/IV, II vkSj III }kjk

41. If waste materials contaminate the source

of drinking water, which of the following

diseases will spread?

;fn vif'k"V inkFkZ ihus ds ikuh ds L=kksr dks nwf"kr dj nsa]
rks fuEufyf[kr esa ls dkSu&lh chekjh iQSy tk,xh\
(A) Scurvy/LdohZ
(B) Typhoid/Vk;iQkWbM
(C) Malaria/eysfj;k
(D) Anaemia/vjDrrk

42. What is the nature of cells formed at the

end of meiosis II?

v/Zlw=khfoHkktu II ds iz;kstu ls xfBr thodks"k (lsy) dh
izdf̀r D;k gS\
(A) Haploid/vxqf.kr
(B) Diploid/f}xqf.kr
(C) Triploid/f=kxqf.kr
(D) None of these/buesa ls dksbZ ugha

43. Dimensional formula for electromotive force

is same as that for _____.

fo|qr izHkkou cy ds fy, vk;keh lw=k _____ ds leku
gksrk gS&
(A) Current/fo|qr /kjk
(B) Energy/ÅtkZ
(C) Potential/{kerk
(D) Force/cy

44. Knowledge, technical skill, education etc.

in economics, are regarded as:

vFkZra=k esa Kku] rduhdh dq'kyrk] f'k{kk vkfn dks ekuk
tkrk gS%
(A) Social overhead capital/lkekftd ca/h iwath
(B) Human capital/ekuo iwath
(C) Tangible physical capital/ewrZ HkkSfrd iwath
(D) Working capital/dk;Z'khy iwath

45. How many languages are contained in the

VIIIth schedule of the Indian Constitution?

Hkkjrh; lafo/ku dh vkBoha vuqlwph eas fdruh Hkk"kk,a 'kkfey
gS\
(A) 18 (B) 22

(C) 16 (D) 12

46. Which one of the following lenses should be

used to correct the defect of astigmatism?

nf̀"VoS"kE; nks"k nwj djus ds fy, fuEufyf[kr esa ls fdl ysal
dk iz;ksx djuk pkfg,\
(A) Bifocal lens/f}iQksdlh ysal
(B) Convex lens/mÙky ysal
(C) Concave lens/vory ysal
(D) Cylindrical lens/flyaMfjfdy ysal
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47. The book "A Book of Light: When a Loved

One Has a Different Mind" has been

authored by whom?

iqLrd ¶, cqd vkWiQ ykbV% Ogsu , yOM ou gst , fMiQjsaV
ekbaM¸ fdlds }kjk fy[kh xbZ gS\
(A) Priyank Gupta/fiz;ad xqIrk
(B) Jerry Pinto/tsjh fiaVks
(C) Manjulla Sen/eatqyk lsu
(D) Anupama Raju/vuqiek jktw

48. Which one of the following chemicals is used

in beauty parlours for hair setting?

fuEufyf[kr esa ls dkSu&lk jlk;u izlk/uky; (C;wVh ikyZj)
esa ckyksa dh lokajus ds fy, bLrseky fd;k tkrk gS\
(A) Sulphur based/lYiQj vk/kfjr jlk;u
(B) Phosphorous based/iQkLiQksjl vk/kfjr jlk;u
(C) Silicon based/flfydkWu vk/kfjr jlk;u
(D) Iron based/yksgk vk/kfjr jlk;u

49. Silver objects turns dark on prolonged
exposure to air due to formation of

pk¡nh ds inkFkZ yacs le; rd gok esa j[kus ls dkys iM+ tkrs
gS D;ksafd bu ij cu tkrk gS&
(A) Silver oxide/flYoj vkWDlkbM
(B) Silver sulphide/flYoj lYiQkbM
(C) Silver nitrate/flYoj ukbVªsV
(D) Silver carbonate/flYoj dkcksZusV

50. In which of the following cases, The
Supreme Court held the fundamentals right
are unamendable?

fuEufyf[kr esa ls fdl ekeys esa mPpre U;k;ky; us ekuk
Fkk fd ekSfyd vf/dkjksa esa lalks/u ugha fd;k tk ldrk gS\
(A) A.K Gopalan's case

,-ds- xksikyu dk ekeyk
(B) Keshvananda Bharti's case

ds'kokuan Hkkjrh dk ekeyk
(C) M.C. Mehta's case

,e- lh- esgrk dk ekeyk
(D) Golak Nath's case

xksyd ukFk dk ekeyk
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
51. Two goods train each 500 m long, are

running in opposite directions on parallel
tracks. Their speeds are 45 km/hr and 30
km/hr respectively. Find the time taken by
the slower train to pass the driver of the
faster one.

500 eh- dh leku yackbZ okyh nks ekyxkM+h lekukarj iVjh
ij foijhr fn'kk esa py jgh gSA mudh pky Øe'k% 45

fdeh-@?k.Vk rFkk 30 fdeh-@?k.Vk gSA rst jsyxkM+h ds pkyd
dks ikj djus esa /heh jsyxkM+h ds }kjk fy;k x;k le; Kkr
djsaA
(A) 12 sec/lsd.M (B) 24 sec/lsd.M
(C) 48 sec/lsd.M (D) 60 sec/lsd.M

52. Find the remainder when (152016 + 162017) is
divided by 7.

'ks"k Kkr djsa] tc (152016 + 162017) dks 7 ls foHkkftr
fd;k tk,A
(A) 3 (B) 2
(C) 11 (D) 7

53. A lent ̀  5000 to B for 2 years and ̀  3000 to C
for 4 years on simple interest at the same
rate of interest and received ` 2200 in total
from both of them as interest. The rate of
interest per annum is:

A, B dks ` 5000 nks o"kksZa ds fy, rFkk C dks ` 3000

pkj o"kksZa ds fy, leku lk/kj.k C;kt nj ij m/kj nsrk gS
rFkk C;kt ds :i esa nksuksa ls dqy ̀  2200 izkIr djrk gSA
C;kt dh okf"kZd nj gS&
(A) 5% (B) 7%

(C)
1

7 %
8

(D) 10%

54. A trader mixes 26 kg of rice at ` 20 per kg
with 30 kg of rice of other variety at ` 36 per
kg and sells the mixture at ` 30 per kg. His
profit percent is:

,d foØsrk ` 20 izfr fdxzk- okys 26 fdxzk- pkoy dks
` 36 izfr fdxzk- okys ,d vU; izdkj ds 30 fdxzk- pkoy
ds lkFk feykrk gS rFkk feJ.k dks ̀  30 izfr fdxzk- dh nj
ij csprk gSA mldk ykHk izfr'kr gS&
(A) No profit, no loss/u ykHk u gkfu
(B) 5%
(C) 8%
(D) 10%

55. The population of a town increased from
1,75,000 to 2,62,500 in a decade. The
average percent increase of population per
year is:

,d n'kd esa fdlh 'kgj dh tula[;k 1,75,000 ls c<+dj
2,62,500 gks tkrh gSA izfro"kZ vkSlr izfr'kr o`f¼ gS&
(A) 50% (B) 5%
(C) 60% (D) 8.75%

56. 50 men took a dip in a water tank 40 m long
and 20 m broad on a religious day. If the
average displacement of water by a man is
4 m3, then the rise in the water level in the
tank will be:

,d /kfeZd fnol ij 50 O;fDr 40 eh- yEcs rFkk 20 eh-
pkSM+s ikuh dh Vadh esa Mqcdh yxkrs gSaA ;fn ,d O;fDr ds
}kjk ikuh dk vkSlr foLFkkiu 4 ?ku eh- gS] rks Vadh esa ikuh
dh Lrj esa fdruh o`f¼ gksxh\
(A) 20 cm/lsseh- (B) 25 cm/lsseh-
(C) 35 cm/lsseh- (D) 50 cm/lsseh-

57. What is the unit digit in {(6374)1793 × (625)317

× (341491)}?

{(6374)1793 × (625)317 × (341491)} esa bdkbZ LFkku dk
vad D;k gS\
(A) 0 (B) 2
(C) 3 (D) 5

58. ( – ) ( – )

1

1 b a c aX X+ +
 + ( – ) ( – )

1

1 a b c bX X+ +
 + ( – ) ( – )

1

1 b c a cX X+ +
 = ?

(A) 0
(B) 1
(C) X a  – b – c

(D) None of these/buesa ls dksbZ ugha
59. A wheel that has 6 cogs is meshed with a

larger wheel of 14 cogs. When the smaller
wheel has made 21 revolutions, then the
number of revolutions mad by the larger
wheel is:

6 nkars okys ,d ifg;s 14 nkars okys cM+s ifg;s ds lkFk layXu
gSA tc ,d NksVk ifg;k 21 pDdj yxkrk gS] rks cM+s ifg;s
ds }kjk yxk, x, pDdjksa dh la[;k gS&
(A) 4 (B) 9
(C) 12 (D) 49

60. Robert is travelling by his cycle and has
calculated to reach point A at 2 P.M., if he
will travel at 10 km/h. He will reach there
at 12 noon, if he travels at 15 km/h. At what
speed must he travel to reach A at 1 P.M.?

jkWcVZ vius lkbfdy ls ;k=kk djrk gS rFkk fcUnq A ij 2
vijkg~u igq¡pus dk vuqeku yxkrk gS] ;fn og 10 fdeh-
@?k.Vk ls ;k=kk djsA og 12 cts nksigj esa igq¡psxk] ;fn og
15 fdeh-@?k.Vk ls ;k=kk djsxkA 1 cts fnu esa igq¡pus ds fy,
mlds ;k=kk dh pky D;k gksuh pkfg,\
(A) 8 km/h/fdeh-@?k.Vk
(B) 11 km/h/fdeh-@?k.Vk
(C) 12 km/h/fdeh-@?k.Vk
(D) 14 km/h/fdeh-@?k.Vk
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61. A alone can do a piece of work in 6 days and
B alone in 8 days. A and B undertook to do it
for ̀  3200. With the help of C, they completed
the work in 3 days. How much is to be paid
to C?

A vdsyk ,d dk;Z dks 6 fnuksa esa rFkk B, 8 fnuksa esa dj
ldrk gSA A rFkk B bls ̀  3200 esa djus dk Bsdk ysrs gSA
C dh enn ls] os dk;Z dks 3 fnuksa esa iwjk djrs gSA C dks
fdruk Hkqxrku fd;k tkuk pkfg,\
(A) ` 375 (B) ` 400
(C) ` 600 (D) ` 800

62. A boatman goes 2 km against the current
in 1 hour and goes 1 km along the current
in 10 minutes. How long will he take to go 5
km in still water?

,d ukfod /kjk ds foijhr 2 fdeh- 1 ?k.Vs esa rFkk /kjk
ds lkFk 1 fdeh- 10 feuV esa tkrk gSA 'kkar ty esa 5 fdeh-
tkus esa og fdruk le; ysxk\
(A) 40 min/40 feuV
(B) 1 hr/1 ?k.Vk
(C) 1 hr 15 min/1 ?k.Vk 15 feuV
(D) 1 hr 30 min/1 ?k.Vk 30 feuV

63. The compound interest on ` 30,000 at 7%
per annum is ` 4347. The period (in years)
is:

` 30,000 ij 7% okf"kZd nj ls pØof̀¼ C;kt ̀  4347

gSA vof/ (o"kZ esa) gS&

(A) 2 (B)
1

2
2

(C) 3 (D) 4
64. In a business, three partners shared the

profit in the ratio 5 : 7 : 8. They had partnered
for 14 months, 8 months and 7 months
respectively. What was the ratio of their
investments?

,d O;kikj esa] rhu lk>snkj ykHk dks 5 : 7 : 8 ds vuqikr
esa ckaVrs gSA os Øe'k% 14 eghus] 8 eghus rFkk 7 eghus ds
fy, lk>snkj cus FksA muds fuos'k dk vuqikr D;k Fkk\
(A) 5 : 7 : 8
(B) 20 : 49 : 64
(C) 38 : 28 : 21

(D) None of these/buesa ls dksbZ ugha
65. A rectangular park 60 m long and 40 m wide

has two concrete crossroads running in the
middle of the park and rest of the park has
been used as a lawn. If the area of the lawn
is 2109 sq. m, then what is the width of the
road?

60 eh- yEcs rFkk 40 eh- pkSM+s vk;rkdkj ikdZ ds Bhd chp
esa nks Bksl jkLrs gSa rFkk 'ks"k ikdZ dks ?kkl ds eSnku ds :i
esa iz;ksx esa yk;k tkrk gSA ;fn ?kkl ds eSnku dk {ks=kiQy
2109 oxZ eh- gS] rks lM+d dh pkSM+kbZ D;k gS\
(A) 2.91 m/eh-
(B) 3 m/eh-
(C) 5.82 m/eh-
(D) None of these/buesa ls dksbZ ugha

66. If ` 782 be divided into three parts,

proportional to 
1 2 3

: :
2 3 4

 , then the first part

is:

;fn ̀  782 dks rhu Hkkxksa esa] 
1 2 3

: :
2 3 4

 ds vuqikr esa ckaVs

gS] rks igyk Hkkx gS&
(A) ` 182 (B) ` 190

(C) ` 196 (D) ` 204

67. Two pipes A and B can fill a cistern in 
1

37
2

minutes and 45 minutes respectively. Both

pipes are opened. The cistern will be filled

in just half an hour, if the B is turned off

after :

nks uy A rFkk B ,d Vadh dks Øe'k% 1
37

2
 feuV rFkk

45 feuV esa Hkj ldrs gSA nksuksa uyksa dks [kksyk tkrk gSA Vadh
rqjUr vk/s ?k.Vs esa Hkj tk,xk] ;fn B dks fdrus le; ds
ckn can djk tk,\
(A) 5 min/feuV (B) 9 min/feuV
(C) 10 min/feuV (D) 15 min/feuV

68. A jar full of whisky contains 40% alcohol. A

part of this whisky is replaced by the whisky

of another jar containing 19% alcohol. If the

percentage of alcohol is found to be 26%. The

quantity of whisky replaced is:

'kjkc ls Hkjs ,d tkj esa 40% ,Ydksgy gSA 'kjkc dh dqN
ek=kk dks nwljs tkj ds 'kjkc ftlesa 19% ,Ydksgy gS ls
cny fn;k tkrk gSA ;fn ,Ydksgy dh ek=kk dks vc 26%

gS] rks cnys x;s 'kjkc dh ek=kk gS&

(A)
1

3
(B)

2

3

(C)
2

5
(D)

3

5

69. If x – y = 
7

x y+
 = 

4

xy
, the numerical value

of xy is:

;fn x – y = 
7

x y+
 = 

4

xy
 gS] rks xy dk la[;kRed eku

gS&

(A)
4

3
(B)

3

4

(C)
1

4
(D)

1

3
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70. If 7 7 7 7........  = (343)y – 1, then value of

y is-

;fn 7 7 7 7........  = (343)y – 1 gS] rks y dk eku

gS&

(A)
2

3
(B) 1

(C)
4

3
(D)

3

4
71. ABC is an equilateral triangle. If BE ^ CA,

which meet CA at point E, then the value of
(AB2 + BC2 + CA2) is:

ABC ,d leckgq f=kHkqt gSA ;fn BE ^ CA gS] tks CA

ls fcUnq E ij feyrk gS] rks (AB2 + BC2 + CA2) dk eku
gS&
(A) 2 BE2 (B) 3 BE2

(C) 4 BE2 (D) 6 BE2

72. If sin 2x = n sin 2y, then find the value of

tan( )

tan( – )

x y

x y

+
.

;fn sin 2x = n sin 2y gS] rks 
tan( )

tan( – )

x y

x y

+
 dk eku

Kkr djsaA

(A)
1

–1

n

n

+
(B)

–1

1

n

n +

(C)
1 –

1

n

n +
(D)

1

1 –

n

n

+

73. If ABCDEF is a regular hexagon of side 6 cm,
then what is the area of triangle BDF?

;fn ABCDEF 6 lseh- Hkqtk okyk ,d le"k"BHkqt gS] rks
f=kHkqt BDF dk {ks=kiQy D;k gS\

A B

C

DE

F

(A) 32 3  cm2/lseh2

(B) 27 3  cm2/lseh2

(C) 24 cm2/lseh2

(D) None of these/buesa ls dksbZ ugha

Directions (74-75): Study the following table and

answer the questions.

funsZ'k (74-75): fuEu rkfydk dk vè;;u djsa rFkk iz'uksa ds
mÙkj nsaA

Classification of 100 Students Based on the Marks
Obtained by them in Physics and Chemistry in an

Examination

,d ijh{kk esa HkkSfrdh rFkk jlk;u esa 100 Nk=kksa
}kjk izkIr vadksa dk fooj.k

Marks out of 50/50 esa ls vad

40 and
above/

40 rFkk mlls

 vf/d

30 and
above/

30 rFkk mlls

 vf/d

20 and
above/

20 rFkk mlls

 vf/d

10 and
above/

10 rFkk mlls

 vf/d

0 and
above/

0 rFkk mlls

 vf/d

Subject/fo"k;

Physics/

HkkSfrdh

Chemistry/

jlk;u
Average

(Aggregate)/

vkSlr (dqy)

9

4

7

32

21

27

80

66

73

92

81

87

100

100

100

74. If it is known that at least 35 students were

eligible for a Symposium on Chemistry, then

the minimum qualifying marks in

Chemistry for eligibility to Symposium would

lie in the range?

;fn ;g Kkr gS fd U;wure 35 Nk=k jlk;u ij laxks"Bh ds
fy, ;ksX; gS] rks laxks"Bh gsrq ;ksX;rk ds fy, jlk;u esa
U;wure vad fdl Js.kh esa gksxk\
(A) 40 - 45

(B) 30 - 40

(C) 20 - 30

(D) Below 20/20 ls de
75. The percentage of number of students

getting at least 60% marks in Chemistry

over those getting at least 40% marks in

aggregate, is approximately?

jlk;u esa de ls de 60% vad izkIr djus okys Nk=kksa dk]
dqy esa de ls de 40% vkSlr vad izkIr djus okyksa ls
yxHkx fdruk izfr'kr gS\
(A) 21%

(B) 27%

(C) 29%

(D) 31%
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Part - IV (English Language)

Direction : In Question nos. 76 to 78 some part

of the sentences have errors and some are

correct. Find out which part of a sentence has

an error and blacken the oval [ ]

corresponding to the appropriate letter (A), (B),

(C). If a sentence is free from error, blacken the

oval corresponding to (D) in the Answer Sheet.

76. The last of the Mughal emperors of India

(A)/ was imprisoned (B) and was later sent

into exile by the British. (C)/ No error (D)

77. My observation is that (A)/ between Kohli

and Joe Root, (B)/ Kohli is the best batsman.

(C)/ No error (D)

78. A high level meeting (A)/ of officials is

reporting (B)/ to have discussed the issue

in great detail. (C)/ No error (D)

Directions : In Question nos. 79 to 81,

sentences given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative out of the four and indicate it by

blackening the appropriate oval [ ] in the

Answer Sheet.

79. We had a _____ of warm weather in March.

(A) period (B) phase

(C) time (D) spell

80. Furious over the alleged assault complaint,

Vivek along with some others beat him up

and warned him of dire consequences if he

______ the case further.

(A) pursues (B) signs

(C) craves for (D) goes on

81. I don't think my wife has _____ use of this

book written by some Japanese author.

(A) many (B) any

(C) better (D) well

Directions : In question nos. 82 to 83, out  of

the four alternatives, choose the one which best

expresses the meaning of the given word.

82. AUDACITY

(A) mildness (B) humility

(C) boldness (D) submission

83. HEINOUS

(A) pleasing (B) wicked

(C) righteous (D) appealing

Directions : In question nos. 84 to 85, choose

the word opposite in meaning to the given word.

84. GALLANT

(A) heroic (B) valorous

(C) coward (D) chivalrous

85. GIGANTIC

(A) monstrous (B) miniature

(C) immense (D) huge

Directions : In question nos. 86, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correct/wrong and mark
your answer in the Answer Sheet.

86. (A) Imperious (B) Unsorted

(C) Rightous (D) Emaciated

Direction : In Question nos. 87 to 89, four

alternative are given for the Idiom/Phrase in
bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.
87. Vivek doesn't want to retire. He would rather

die in harness.

(A) ceased to live

(B) died of a disease

(C) died for his country
(D) died while working

88. When I returned the lost kitten to Kriti, she
thanked me from the bottom of her heart.
(A) sincerely (B) lowest position
(C) totally (D) wholly

89. The decision to send Narsingh Yadav with
the team for Rio was made at the eleventh
hour.

(A) at a late stage

(B) at the beginning

(C) at eleven o' clock

(D) at an early stage

Direction: In Question nos. 90 to 92, a

sentence/ a part of the sentence is italicised

in bold. Below are given alternatives to the
italicised part at (A), (B), (C) which may improve

the sentence. Choose the correct alternative.

In case no improvement is needed your answer

is (D). Mark your answer in the Answer Sheet.

90. If you come across my watch anywhere,

bring it to me, can you?

(A) don't you (B) will you

(C) isn't (D) No improvement
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91. One of the oragnisers' personnel gave first

aid and water bottles to O.P. Jaisha who is

injured while running in Rio Olympic.

(A) who would injured in running

(B) who had been injured because of

running

(C) who was injured while running

(D) No improvement

92. Columbas invented America.

(A) searched (B) traced

(C) discovered (D) No improvement

Direction : In Question nos. 93 to 95, in the

following question, out of the four alternatives,

choose the one which can be substituted for

the given sentence.

93. Deliverance from sin and its consequences

(A) Resumption (B) Repentance

(C) Salvation (D) Expiation

94. A narrow, keelless boat with pointed ends,

propelled by a paddles

(A) Dinghy (B) Canoe

(C) Yacht (D) Frigate

95. A strict disciplinarian, especially in the

armed forces

(A) Demagogue (B) Dictator

(C) Statesman (D) Martinet

Direction (Q. No- 96 - 100) : In these question

you have two brief passages with six questions

following the passage. Read the passage

carefully and choose the best answer to each

question out of the four alternatives.

Passage – 1

Organizations are institutions in which members

compete for status and power. They compete for

the resources of the organization, for example,

finance to expand their own departments, for

career advancement and for power to control the

activities of others. In pursuit of these aims,

groups are formed and sectional interests

emerge. As a result, policy decisions may serve

the ends of the political and career systems rather

than those of the concern. In this way, the goals

of the organization may be displaced in favour of

sectional interests and individual ambition.

These preoccupations sometimes prevent the

emergence of organic systems.

Many of the electronics firms in their study had
recently created research and development
departments employing highly qualified and well-
paid scientists and technicians. Their high pay
and expert knowledge were sometimes seen as
a threat to the established order of rank, power
and privilege. Many senior managers had little
knowledge of the technicalities and possibilities
of new developments and electronics. Some felt
that close co-operation with the experts in an
organic system would reveal their ignorance and
show that their experience was now redundant.

96. The author makes out a case for:
(A) research and development in

organizations.
(B) a refresher course for senior managers.
(C) an understanding between senior and

middle level executives
(D) organic system.

97. The author tends to see the senior
managers as:
(A) ignorant and incompetent.
(B) jealous of their younger colleagues.
(C) a little out of step with their work

environment.
(D) robbed of their rank, power and

privilege.
98. 'Organic system', as related to the

organization implies its:
(A) natural and unimpeded growth.
(B) growth with inputs from science and

technology.
(C) growth with the help of expert

knowledge.
(D) steady all round development.

99. Policy decisions in organization would
involve:
(A) modernization of the organization.
(B) co-operation at all levels in the

organization.
(C) attracting highly qualified personnel.
(D) keeping in view the larger objectives

of the organization.
100. The theme of the passage is:

(A) groupism in organizations.
(B) frustration of senior managers.
(C) individual ambitions in organizations.
(D) emergence of sectional interests in

organizations.
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